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1.

Which was the most decisive battle of the Third Carnatic War ?
(A) Trichinopaly (B) Arcot
(C) Wandiwash (D) Ambur

Kunwar Singh, who led the Revolt of 1857 in Bihar, was the Zamindar
of :

(A) Biharsharif (B) dJagdishpur
(C) Vaishali -(D) Madhubani

Of the following, who signed the Document of Punjab’s Annexation with the
British Empire in 1849 ?

(A) Maharani Jindan

(B) Maharaja Gulab Singh

(C) Maharaja Sher Singh

(D) Maharaja Dalip Singh

When was the Code of Criminal Procedure introduced in India ?
(A) 1862 (B) 1865

(C) 1860 (D) 1870

Of the following, who was not the member of the Ghadar Party ?
(A) Lala Hardayal (B) Barkatullah

(C) Sohan Singh Bhakna (D) Bhai Ram Singh
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SUPDT(H)-2018
Tag ;2 W | | [quits : 100 |
| o e e W A o Fies e o 2 |
(A) Traamet = (B) 3Thie @&t
(C) af<ama =t (D) 3= St
2. @ fiz fae 1857 & & fagie %1 fer # I fF, 9w wel w1 SRR o 2
(A) foeeds & | (B) STEIGR A
© Fmh m (D) Ty
3. fym @ frey 1849 3. H iUSh wmrw & Wiy Yo & oo & e ey 9 2
(A) R fSRT A . (B) wers o fiw 3
(C) werwn IR fHE S (D) wewrrs <wd faw A
4. wma # wreRM wEfaf dfed w9 oW g 2
(A) 1862 € # (B) 1865 %
(C) 1860 %. # (D) 1870 . #
5. e ex uEl &1 WE A AE a1 ?
(A) o wEA (B) whgwTE
(C) dred feg W (D) € ™ fHg
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6. Wtkich of the following, provided for the Right of Secession from the British

Commonwealth to India ?

(A) The August Offer (B) Gandhi-Irwin Pact

(C) Cripps Mission Plan | .(D) Simon . Commission
7. Who was the member of the Hindu Mahasabha ?

(A) V. D. Savarkar (B) B. S. Munje

(C) Lajpat Rai (D) All of these

8. Which Act conceded the Right of discussing the Budget for members in the

Legislative Councils ?
(A) Indian Councils Act, 1861
(B) The Charter Act, 1833
(C) Indian Councils Act, 1892
(D) The Charter Act, 1853
9. In whose time was shifted the capital of India from Calcutta to Delhi ?
(A) Lord Hardinge -~ (B) Lord Curzon
(C) Lord Minto (D) None of these
10. Which was the first successful Satyagraha of Mahatma Gandhi ?
(A) Non-cooperation Movement
(B) Champaran
(C) Civil Disobedience Movement
(D) Quit India Movement
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6. “ ﬁmﬁ@mﬁmﬁﬁmmﬁmﬁﬁkmaﬁwﬁm ?
(A) ST SR 7 (B) Tief-sifo Yo A
() fFrw fawm < A (D) WEHA HHRE A
7. fe= wemW w1 WSH wH 41 ?
&) @ R ®) . . 5
(C) wreE T D) 3 @
8. mﬁuﬁm%ﬁuﬁ-uﬁqﬁﬁmwmmﬁwﬁwmm?
(A) uRdE afteg sAfuf@d, 1861
(B) =X TR, 1833
(C) wrda uftwg srfufam, 1892
(D) =X TR, 1853
9. Trus wma ¥ 9Rd &1 TSUEl ® wowd ¥ oot d wEwia w2
a) e @i (B) e ot
© I fir= D T ¥ wE
10. TRl e H AAH hA HAWE HEr A1 ?
(A) STEEAN A<
(B) wHRA
(C) wfoTa sfe- =l
(D) 9Rd Sl =<
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11,

12.

13.

14.

15.

Who was the first Chairman of Harijan Sevak Sangh ?

(A) B. R. Ambedkar (B) Jamna Lal Bajaj

(C) Vinoba Bhave | - (D) G. D. Birla

Who opposed the Resolution of Pakistan in tile Congress Meeting, 1947 ?
(A) Dr. Rajendra Prasad (B) Abdul Gaffar Khan

(C) Jawaharlal Nehru (D) V. B. Patel

When did Gandhi threaten to go to fast unto death against the State of

Rajkot ?
(A) 1939 (B) 1935
(C) 1940 (D) 1938

B. R. Ambedkar was appointed in Viceroy’s Council in 1942, as :
(A) The Law Member

(B) Advisor to the Viceroy

(C) The Labour Member

(D) None of the above

Of the following, who opposed the Consent vof Age Bill, 1891 ?
(A) Keshav Chandra Sen (B) Bal Gangadhar Tilak

(C) Lajpat Rai (D) D. K. Karve
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11  e g TH HT YUYW AT HA A1 ?
(A) oI 3TR. TFTH (B) SHT 9 oSS
(C) foden v (D) =i €t fasen
12. 1947 3. &t &g Hifén # wiram & gwe & foldva fvaq st 2
(A) <. = e (B) oT=gd TFRR WM
(C) SERE™ Tew D) . &t =«
13. TSR U9 & faeg 7l 3 9 Wb 9d @A & gHhl & & 2
(A) 1939 % H (B) 1935 3. #
(C) 1940 3. # (D) 1938 3. #
 14. 1942 . # . M. THSH H I I IReg § fRw w1 A Fgfm g ?
A) fafg-we= |
(B) ITRRE F HARHR
(C) #H-U<H
(D) STgw # ¥ +8 &
15. 1891 §. & e M TS fow = fadwaw =9 § & fohed =1 2
(A) HyEER B (B) =& TR faers

(C) wrSHa ™ D) . . &3
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16. Which of the following works is not matched correctly with its author ‘7

Author  Work
{A) Ram Mohan Roy - The Precepts of Jesus
(B) Rab_indranath Tagore e Manasi
(C) Bhai Vir Singh e Rana Surat Singh
(D) Madhusudan Dutt —— Neel Darpan

17. Who designed the Central Museum in Lahore ?
(A) Ram Singh (B) Amrita Shergil
(C) E. V. Havell | (D) Sir Edwar(i Baker
18. The Prince of Wales Museum in Mumbai was designed by :
(A) E. V. Havell (B) Sir Edward Baker
(C) G. Wittet | (D) Sir William Emerson

19. In which year was awarded the Nobel Prize in Literature to Rabindranath

Tagore ?
A 1912 © (B) 1913
(C) 1914 D) 1915

90. Who established the Vedanta Societies ?
(A) Swami Vivekananda
(B) Swami Dayanand Saraswati
(C) Hans Raj

(D) Lajpat Rai |
SUPDT(H)-2018—A 8



16.

17.

18.

19.

20.

= § 3 IR wfa o dEw & Ty ud gafaa wE § 7

Sichd Ffa
(A) THHERA 1@ - f& ey oifw siaw
(B) W=y HR = T
(C) wiE IR f&g - Ton gla fag
(D) =YY <9 = e g
aER # S GUEed S w o fHET TR W ?
A) T fag A (B) =mgar IRfiE A
(C) s.aﬁ.ﬁ%?@l% (D) W TeaE JHT A
wammmmaﬁWWWﬁ 2
(A) 3 . wTEA I | (B) W TeTE FR A
(C) =it faga A A(D)mfaﬁwmw%

wigmg TR w1 g § Aed R foew ad faen 2
(A) 1912 % - (B) 1913 %.
(C) 1914 % D) 1915 %.
Jera Wragfedl (Societies) Ft TATT foRE w1 o 2
(A) w@rft foawE= A

(B) WHt TEF< | A

(C) & TS A

(D) <S9d TF A
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21.

22.

23.

24.

25.

The book Secret Document belongs to which of the following ?
(A) The Brahmo Samaj
(B) The Ramakrishna Mission

(C) The Prarthana Samaj

- (D) The Theosophical' Society

Who formed the Indian Society of Oriental Art ?

(A) Ravi Varma (B) Abnindranath Tagore

(C) Rabindranath Tagore (D) None of these

Of the following, who belongs to the Militant Party of Arya Samaj ?
(A) Hans Raj “ | (B) Lajpat Rai

(C) Lala Munshi Ram (D) None of these

Where was originated the Satya Mahima Dharma ?

(A) Orissa (B) Bihar

(C) Maharashtra | (D) Karnataka

Baba Ram Singh, the founder of Namdhari Movement was exiled to :
(A) Andaman and Nicobar (B) Lakshdweep

(C) Burma (Myanmar) (D) Singapore

SUPDT(H)-2018—A 10



01 frm B e Stegiee Wi T e TR ¥ 2
(A) FE T
(B) wHF™ fa
(C) el 9H
(D) fusiEifrerad |
20. sfieay dEd e fl=a o fema w g ?
@A) T d ®) s B 3
(C) WA &R 3 (D) T q F§ T
23. fm= # @ #F od wuS $ SU-gd@ (Militant Party) 9 @ § 2
(A) & T (B)Fnemam}
(C) wwem gem (D) ¥ @ w7
24. U uiewm ud %l IR g ?
(A) SE | (B) foer #
© Wz d D) wes &
25. mwm%mwmﬁgmﬁﬁamqgw?
(A) 3veHH o freEmR (B) w&gM
(C) =W (WMER) | (D) famgR
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26.

27.

28.

29.

30.

The factor(s) responsible for population change is (are) :
(A) Births (B) Deaths
(C) Migration (D) All of these

Which among the following does not belong to India’s major large scale

industries ?

(A) Cotton Textile Industry

(B) Iron and Steel Industry
(C) dJute Industry

(D) Khadi and Village Industry

Which State of India is known as “Tiger State” ?

- (A) Gujarat (B) West Bengal

(C) M.P. ' (D) Assam

To conserve coral reef, the Government of India declared one of the following

as Marine Park :

(A) Gulf of Mannar (B) Andaman Islands
(C) Gulf of Kutch (D) Lakshadweep Islands
Cadastal maps are generally prepared to represent :

(A) Small areas (B) Large areas

(C) Small countries (D) Macro regions

SUPDT(H)-2018—A 12



2.

28.

29.

30.

frefafeg § ¥ AW HRE THEE e & fag e ® 2

A) s B T

(C) YasH D) 3 =t
ﬁmﬁf@aﬁﬁmmm%qﬁmﬁWﬁwﬁm%?
(A) HUST TH F& IA

(B) ©ig Td ¥ e

(C) g SEm

(D) @ T A S

frefofeg § @ 9Ra &1 FF@ 09 YEE T H w9 OH S S g ?
A) TRE (B) ufem s

(C) W& Ul D) 3T

o fafs & W & fau yie R 3 Frefafea 3 @ 59 ™ & afka =
wifta fear § 2

(A) TR W EE | (B) =AM g9

(C) ®=5 & Rl | (D) w&EH
Wﬁ@aﬁﬂﬁ@ﬁhﬁ%@mﬁwﬁﬁmﬁmm%?
(A) BrR &5 | - (B) WS &

© o 2w K © W R
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31.

32.

33.

34.

35.

Savanna region of Brazil are locally called as :

(A) Cerrado | (B) Llanos

(C) Pampas (D) None of these
Which evidence does not support the “Plate Tectonic Theory” ?
(A) Jig-saw fit

(B) Sea floor spreading

(C) Similar drainage system

(D) Similar rock system

A French architect, Le Corbusier designed which city ?
(A) Bangalore (B) Chandigarh
(C) Kolkata | D) Cheﬁnai
When was “Wildlife Protection Act” passed in India ?
A) 1972 B 1992

(C) 1974 (D) 1976

Which of the following is most suitable to show the inequality in the

distribution ?
(A) Lorentz curve (B) Bar graph

(C) Circle diagram (D) Isopleth

SUPDT(H)-2018—A 14



31, wid & A &% W wrEhE s # @ we W ¥ 2
(A) faer (B) wH™
(C) T | D) T8 & *=§ TE
32.  FE wEw ‘e IR fag<’ § weEs W@ g ?
»(A) Sm-w1 e
(B) W 9 W WER
(© = 3 o
(D) TEW TEM WOl
33. Wmﬁm“?ﬁaﬁﬁm"ﬁmwwﬁ%Wm?
(A) FTER (B) =@
(C) Il (D) ==
34. “wﬁammwﬁxﬁm”mﬁwqrﬁa'@r?
(A) 1972 B) 1992
(C) 1974 (D) 1976
- 35. ﬁw&f@aﬁammﬁmﬁﬁ@ﬁﬁmmm%?‘
A) s w4 o (B) =R %
(C) dfea smEwm™ . (D) ATFEAY
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36. The following is/are the non-renewable resources :
(A) Coal (B) Petroleum

(C) Natural gas : (D) All of these

37. Match List I with List IT and select the correct answer from the codes given

below :

List I | ~ List II
(@) Loess , (1) River deposits
(b) Morains | (2) Glacial deposits
(é) Gravels | (3) Wind deposits
(d) Silt % | (4) Marine deposits
Codes :

@ ® © @
@a a © @ @
® @ @ @ @
© @w O ©® ©
® @ @ @© @
38. Himalayan orogeny started in :
(A) Holocene (B) Pliocene

(C) Miocene ' (D) Eocene
SUPDT(H)-ZOIS—-—A 16




36. Tr=fafea & ¥ wFa m-fgufea a9 7 2

(A) <RI

(C) wpfaw ™

37. Tafafes =1 faem wifsT .

foe 1
(@ ="
(b) wWH
(€ Jaa

d) Tas=

frer 8§ @ wE SR TR ® 2

wE

(a)
A @
B) O
Cc @

M @

(b)
@
(2)
1)

4)

(©)

- @

4)
(3)

(1)

()
(3)
1)
(2)

(2)

(B) Yaferew

(D) J 9t

foe 11
(1) ‘ﬁc‘ratna
(2) TAfdEe SHE
3) T SHA
(4) ﬂﬁ-rsmra

38. fearea =1 w1 &1 W e 8 8 e gE geh ?

(A) T
(C) HEEH

SUPDT(H)-2018—A
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39. In which state “Nathpa Jhakri Hydel Project” presently under execution lﬁ?
(A) Sikkim . (B) J&K
(C) Himachal Pradesh (D) Uttarakhand
40. Which of the following countries is not a member of SAARC ?
(A) Pakistan | (B) Bangladesh
(C) Bhutan (D) China
41. Beti Padhao, Beti Bachao Scheme :

(i) Was launched to prevént sex-selective abortions and to ensure survival

and protection of a girl child.
(@) To ensure the education of girl child.
(A) Only (i) is correct
(B) Only (i7) is correct
(C) Both are correct
(D) Both are incorrect

42.  According to World Economic Forum (Global Gender Gap Report 2017) India

is ranked on Gender Gap Index gt 2
(A) 108th out of 144 countries
(B) 128th out of 148 countries
(C) 137th out .of 144 countries

(D) 88th out of 154 countries

SUPDT(H)-2018—A 18



z

39. frafafea 4 @ forg = 81w smd sia faga aRaemn’! 1 aqam 3 fsuea

g 2

A) fafera “ (B) S Td HYHR

© o ww D) SwETS
40. fmafafea  F FEE W A H T TE T 2

A) ufessE | (B) SR

(©) e (D) =W

41. 93 YRl I FEell @i : .
(@) T sneia oo #1 Ao e e % Sifad T wwam w1 g
w0 & faw @m = H ¥
() onfeerteti w1 foam =1 ghftea &0 & fag 8
(A) “Haa () §E ®
(B) wHhad (i) WE ©
(C) 3 @t ¥
(D) ?ﬁﬁﬂaa%
42. Tava o WA & FgER (SR AT R gewiw RO 2017) wRa ® fem
IR ik HEE ET { W ¥ 2
(A) 144 == ¥ 108 =f
(B) 148 ]z # 128 =

(C) 144 =<wii 9§ 137 o

(D) 154 <%0 H 88 di |
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43. Consider the following statements and choose the correct one :

@)

(i)
(A)
(B)
(&)

(D)

Bhartiya Mahila Bank was the only Public Sector Bank in India entirely

owned by the government and is recently merged with SBI.
This Bank accepts deposits only from women.

Only (@) is correct

Only (i1) is correct

Both are correct

Both are incorrect

44. The High Denomination Bank Notes (Demonetisation) Act, 1978 ;

(A)
(B)
(®)

(D)

Deemed the Rs. 1,000; Rs. 5,000 and Rs. 10,000 notes illegal
Deemed the Rs. 1,000 and Rs. 500 Notes illegal
Deemed the Rs. 5,000 and Rs. 10,000 Notes illegal

None of the above

45. Read the following statements carefully and select the correct option :

@
(i)

(A)
(B)
©)

(D)

Make in India is an initiative launched by PM on 25th Sept., 2014.

Objective of this initiative is to encourage national and multi-national

companies to manufacture in India.
Only (@) is correct

Both are correct

Only (i7) is correct

Both are incorrect
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)

(i)
(A)
(B)
(©)

(D)

43. T ol & YR W e HT TAM i

RA Tfee S IRA H Weiseh &5 1 3Tehell S o1 SRt Yuiaa SR
g1 @it a1 iR foget o € 7 owh. o). . & Wiy faoa fm e R

g 9 Dhad HEEl § I ST ol STHT Sl WihRAl §
Had () FE ©

%ara (i) T& ©

A @ €
SF e ©

44. =9 A O9% el (o) sifafaam, 1978 & A7ER :

(A)
(B)
(©)

(D)

1,000 ¥93, 5,000 T A 10,000 TWF & A 9y o BT
1,000 TMF d&1 500 TIA H A Y | gy
5,000 ¥4 TAT 10,000 TIA & HE @Y WA TY

S7gE H @ W

45, Trefafed w91 sE ¥ ufEd a9 WE H 9IS

@
@i1)

(A)
(B)
©)

(D)

A% 3 sfea Ted w1 YEAM W TH. g0 25 fadeR, 2014 w1 w R
T T w1 S T U U e ) ww # i i s
Eciid |
Fad () T ¥

3w B

Had (i) §& T -

F @ €
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46. As per the Census 2011, female literacy rate in Himachal Pradesh is :

(A)

©)

75.93 | (B) 89.53

79.93 (D) 78.93

47. Read the statements and identify the correct one :

@

(1)

(A)

(B)

(©)

(D)

Sh. N. K. Singh is appointed the Chairman of 15th Finance Commission.
Its recommendation will be vaild from April 2020 to March 2025.
Both afe correct

Both are incorrect

Only (i) is correct

Only (i7) is correct

48. BIMARU was coined by :

(A)

(B)

(&)

D)

Prof. A.K. Sen to refer the poor economic conditions of some states in

India

The Planning Commission in late nineties for the allocations of funds

to poor states

Ashish Bose to refer the poor economic conditions of some states in

India

The World Bank to refer the poverty status of some states in India

SUPDT(H)-2018—A 22
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46.

47.

48.

T 20il1 H SAUAT & FIER, fedr=el oW i Higem wiawa X v 3
(A) 175.93 | (B) 89.53

(C) 79.93 (D) 178.93

f woFl I U a1 T H TIT B

@ o @ % fhe 158 fom smm =1 srema frge fean T %
(if) -m famifieli &t Juar Ua 2020 9 nraf 2025 e B |

(A) =F W €

(B) < T €

(C) Had () ¥ ©

(D) ad (i) F& ¥

BIMARU & AN/Seqi@ :

(A) ﬁwq.%.mﬁm@WﬁﬁawwW%wﬁﬁ
foram |

(B) 78 & TUE & ofd § dem AN A e T & faw we steed & fad
fan

(C) aefs w9 ¥ YRGB ®wB Woa w1 Ta onfdw feufa & o"ed H
foram

D) FeT S o @ @ T a7 e w o @ wedd § fear
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49.

50.

51.

Basic component(s) of Digital India is/are :

(@) Development of secufe and stable digital infrastructure
(Z1) Universal digital literacy

(zi1) Delivering government services digitally

(A) (i) and (ii) are true

(B) (i) and (i) are true

(C) (@) and (Gi1) are true

(D) All of the above are true

Central Banking functions in India are performed by the :
(@) Central B_ank of India

(1) State Bank of India

(Ziz1) Reserve Bank of India

@Gv) PMO

(A) (@) and (i)

B) G apd (z12)

(C) (i) only

(D) (Ev) only

Who is the Chairman of NITI Aayog ?

(A) Rajiv Kumar (B) Amitabh Kant

(C) Prime Minister (D) Bibek Debroy

SUPDT(H)-2018—A 24



49.

50.

51.

- fefrem Sfea /s STURMA WueHh /€ :

¢ e wd woEh fefsea e %1 fowm™

() wEsHER %ﬁm'mm

(i) TR Tenedt w1 fefea froueH/gfque

(A) @) T Gi) FE T

(B) (i) I (i) W ¥

(C) () qem (i) Wl

(D) 9w Tt 9 ©

o S Aren w fred g B W ¥ 2

@) Tz 9% A® sfem

i) W 6 M e

Gii) fod S offw sfean

Gv) . T 3

A) G) T @)

(B) (i) W& (i)

(C) Haad (i)

D) Had (i)

Hifa smEm a‘# Femel HHA T 2

(A) Tréﬁa.w | (B) ey whid
(C) wu= w3l | (D) foo= S
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52.

53.

54.

55.

it

Swachh Bharat Mission aims to achieve an Open-Defecation Free India

by :
(A) 2 Oct., 2019 (B) 2 Oct., 2020
(C) 2 Oct., 2025 (D) 2 Oct., 2022

Which of the following develops and updates Global Hunger Index ?

(A) WTO
(B) WHO
(C) FAO

- (D) International Food Policy Research Institute

Which one among the following formulates Fiécal Policy in India ?
(A) Niti Aayog ‘

(B) Finance Commission

(C) RBI

(D) Finance Ministry

Demographic Dividend refersv to :

(A) Rise in the population between the age group of 15 to 64 years
(B) Rapid increase in the population | |

(C) Increase in the population between the age group of 1 to 14 years

(D) Dividend due to geographical location
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52.

53.

54.

55.

e IR fvE w1 T # UE-TE. WRd 6 98 Wl FE 9% QU e S
%2 |

(A) 2 SRR, 2019 B) 2 3?51351 2020
(C) 2 IWREF, 2025 (D) 2 ISR, 2022
ﬁmﬁﬁﬁqéﬁaawqaﬁmwﬁwﬁm@a@am%;?
(A) T=Y. A e

(B) T=g, TH. 3.

C) TH T 3.

(D) swRiwE @ Aifa o g

e # e A w1 fl fE § ¥ W e E 2
A) ffa smEm :

(B) fau emm

(C) . it 37E.

D) fau TR

S iR el s d@ed ¥ ;

A) 15 F 64 94 & o Y9 F SEEN § gfs

(B) wmEe # e gfs

(C) 13 14 s & o1y gu # sHEew # Jfs
D) Yrifas foafa & =RO @
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56. “Economic growth should proceed only in so far as natural resources are recycled |

rather than depletéd biodiversity is maintained and clean air, water and land

are protected.” This statement is related with the concept of :

(A)
(B)
©

(D)

Economic Development
Social Development
Sustainable Development

Ethno Development

57. Human Development was developed by :

(A)

©)

Mahbub ul Haq (B) Samir Amin

A. G. Frank (D) 1. Wallerstein

58. Which of the following are views of Gandhian Development ?

(1)
(2)
3)

(4)

Self-development over material prosperity
Development of free market
Centralised planning

Development of villages and cottage industries

Select the correct answer using codes given below :

(A)
(B)
(C)

(D)

(1) and (4)
(2) and (3)
(4) and (3)

(2) and (4)
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56.

57.

58.

gl faTa Sad S O 9% o Je el fogH GEeel & U & sEd
mmmm,?@ﬁrﬁwﬁaa@mr@nwamwm,wﬁam
yfy & TRan w1 TE g H ey Frefafed § @ R swuron & W
g ? ~

(A) onfde faed

(B) IS o™

(C) ey Haq fas™

(D) T-fawmE
Wmmmﬁmmmﬁmw‘?
(A) U 3Id Th (B) HHR o7
(C) UTSH. % (D) oTE. JAEEH
frfafod § ¥ FFQ TRiae fowm & gfewo € 2
(1) oOfss agfs *t g § @-fae™

(2) Y IR w1 TR

(3) H=rwa fEeH

(4) T SR HIR wEE w1 fewr

T R T w2 H W WA SW G-

A) (1) R 4)

(B) (2) 3 (3)

(C) (4) 3R (3)

D) (2) 3 4
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59.

60.

61.

62.

63.

Which is not an indicator of Human Development Index ?
(A) Life Expectancy

(B) Education Comﬁonent

(C) National per Capita Income

(D) Level of Urbanization

Which of the folldWing is not a Millennium Development Goal ?

(A) Eradicate extreme poverty

(B) Housing for the poor

(©) Reduce child mortality

(D) Ensure environmental sustainability

Who is the author of the book “Garibi Hatao : Strategy Options” ?
(A) Indira Gandhi (B) M. L. Dantwala

(C) Thomas Gladwin ° (D) S. Bagachi

Which of the Indian State has the largest number of slum dwellers as per
Census 2011 ?

(A) Tamil Nadu 4(_B) West Bengal
(C) Maharashtra (D) Bihar

Which of the following was not specified as an objective of social development
by the World Development Summit (1995) ?

(A) Economic Protectionism
(B) People Empowerment
(C) People’s Initiatives

(D) Strengthening the capacities of i)eople
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59.

60.

61.

62.

63.

frefafeg § ¥ A AFa faw™d gokis o §ohaw Te § 2
(A) SfleA v

(B) foem-ses

(C) wig-safe U o™

(D) YEOHO H WX

frfafes § ¥ wra Teeel e a8 @ 2

(A) St TS S

(B) s & fau e

(C) o g <X H FHI

D) vEERe Had gHR=a s

Vet getell @ WS WM’ gEieh  dEw B ¥ 2
(A) sfen e (B) TH.TA. lqarer
(©) urE TS ©) TE s

2011 I TV & SER WRd § fre Tg § Afen awdt Frenfadi @t g wee
atfers ® 2

(A) TfeTE (B) ufy=dt smE
(C) WL ' (D) fo=R

frve Tasrg TorER e (1995) BRI GMEIR 9w & S2¥g & &9 # Frafated
7 3 fra fafafdse =& fom ™ & ? '

(A) ofifefer TRAUEE
(B) A GfeRehiol
(C) “H Usd

(D) 9 &HAl 1 FEEIHIu
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64.

65.

66.

67.

68.

Which is an indicator of social development in the following' ?
(A) Impi'O\lrement in health

(B) Impi'ovement in quality of life

(C) Improvement in education

(D) All the above

Privatization of Education is a consequences of :

(A) Urbanization (B) Globalization

(C) Science and Technology (D) Increase in population
The principle of gender equality refers to :

(A) All females Being treated equally

(B) All males being treated equally

(C) Females should be treated the same as men

(D) Females should be treated the same as men unless special circumstances

apply
India ranked .woosssmaasss in> Global Gender Gap Index 2017 out of 144
countries.
A) 135 (B 108
(©) 123 | @) 110

Which year was declared as the Women’s Empowerment Year ?
A) 1991 ~(B) 2001

(C) 2005 (D) 1998
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64.

65.

66.

67.

68.

frefafen § ¥ gfss fow@ =1 gEs ST 7 2
(A) @A # gfg
(B) <o A\ & oEw A IS

() feoenm & 3fg

(D) STdF |l

o 1 e Freafaf 3 % e afom & 2

(A) TR (B) S&teRITl
() fomm au dehfe (D) e & 3fs

fiT (Gender) TR 1 fagr quh &
(A) Tt fordi & Wy 99 Seer fe@ sm €
(B) Tt T B WY GAH FEER R @ €
©) fodit % wa T @ SN weER e W A

(D) Saw faferse wfiftafadl & oremen, fodl & Wa gEsl & 99 H9er fHar s
ElE]

_v2017aﬁ144%¥ﬁﬁﬁsﬂf'«hﬁaaﬁzﬁ°fﬁmmﬁww%?

(A) 135 (B) 108
(C) 123 D) 110
Fa 99 wfeen aufaestor gd =ifta fear ™ ?2
(A) 1991 (B) 2001

(C) 2005 D) 1998
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69.

70.

71.

Mark out the correct sequence of perspectives on gender and development
in India :

(A) Welfare, Empowerment, Development

(B) Empowerment, Development, Welfare

(C) Development, Welfare, Empowerment

(D) Welfare, Development, Empowerment

Assertion (A) : Women and childl development policy is called ‘Protective
Discrimination’.

Reason (R) : This is beneficial only for women.

Give answer from the following codes :

3

(A) (A) is true and (R) is false
(B) Both (A) and (R) are false
(©) tA) is true and (R) is false and (-R) is not the correct explanation of (A)
(D) .Both (A) and (R) are true

A charismatic or well-known species that is associated with a given habitat
or ecosystem and that may increase awareness of the need for conservation

action is known as :
(A) Flagship species ) (B) Keystone species

(C) Umbrella species (D) None of these
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69.

70.

71.

qRa d T (Gender) don o W uffied &1 WE I HA oaEd :

(A) e, gerfRms, foasm

(B) wrfRaTol, fomme, FHeam

(C) famrmd, s, weifereRio

(D) e, fasw™, FerfwRiso
W(A):mﬁw—mﬁ‘wmﬁW’m%l
FROT (R) : g had Afgensil & fad anees )
W@H@ﬁﬂ@ww |

e

o

(A) (A) TF ® R (R) 3EA €

B) (A) 3R (R) I 8 Tl

(©) (A) 9 & 3R (R) 379 ¥ 3R (R), (A) &1 U& =& T8 ¥l

(D) (A) IR (R) SF T T

T Wag HReAE gt st fedl R e emerw o wilfeafas o & @iy SE1 88
¥ iR S WU F SEAEHAl ® aR § WTEhdl 9 Thdl § :

(A) YgE JehaEr | (B) HIRH gsfaar

(C) e gefaar (D) T | wE T
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72.

73.

74.

75.

¢
The population growth form observed in ‘algal blooms’—in which the density

of algae increases dramatically and then suddenly declines is known as :
(A) S-shaped or sigmoid growth pattern

(B) J-shaped growth pattern

(C) Z-shaped growth pattern

(D) None of the above

Green audit is :

(A) Estimation of crop yield and crop area

(B) Estimation of forested area and pasture land

(C) Checking of impact of an establishment over environment
(D) Effect of environment over vegetation of an area
Competition is the most' severe between two :

(A) Closely related épecies growing in the different niches

(B) Closely related species growing in the same habitat

(C) Distantly related species growing in the same habitat

(D) Distantly related species growing in the different niches
In India, Tropical rainforest are found in :

(A) Uttar Pradesh and Bihar

(B) Madhya Pradesh and Odisha

(C) Jammu and Kashmir and Himachal Pradesh

(D) Western Ghats and Eastern Himalayas
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72.

73.

74.

75.

‘W—%ﬁ’ﬁmqﬁmé@m%—ﬁwﬁmwmm
7 Q g 9 ¥ iR fir SO o iR oM # FEd ©

(A) wE-IeR 4@ famte gie ufesd

(B) S-3ER w1 fawm Yed

(C) Z-3R o fawm e

(D) S9gF # | =g &

e offfee © -

(A) HIA TS AR HEA &F HI TIAR
(B) =9 €. 3R AXEME YA H1 FATAH

- (C) THERm B TW TS WASH & W ® S

D) fod €9 = greafd W g"erRe &1 q9E
fredl @ @ Wt H wed el et a0 ¥
(A) srem-3tem ‘e’ § eed g e wwifud gonfadi 4
(B) T & oma H wedl g8 fwe wenfadi

(@) TH @ fEm T W ded g @ %! Heftud wenfaal |

D) sEm-ser ‘FrEg’ # dedt g | W wetm wefE §
mﬁm%ﬁaaﬂmmm%:

(A) TW WY AR faer

(B) wea Ww iR efewm

© g s wwER s ferm

(D) ufyeH =2 iR gEt fene™ |
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76. A clone is a population of plants obtained :
(A) From a single vegetatively propagated plant
(B) By selfing of a bisexual plant
(C) From two genera after crossing
(D) From two species after cross pollination
77. “Bioassay’ means :

(A) The use of living cells or organism to make quantitative or qualitative

measurements of the amounts or activity of substances

(B) The use of living cells or organism for estimating the environmental

change
(C) The use of living clells or organism for detecting the crime
(D) The use of living cells or organism for assaying the cellular changes
78. ‘Biodiversity Hot Spot’ is characterize with :

(A) High species richness, high endemism, imminent threat of habitat

destruction
(B) High species richness, low endemism, no threat of habitat destruction

(C) High species richness, low endemism, imminent threat of habitat

destruction

(D) High species richness, high endemism, low threat of habitat destruction
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A
(A)@Waﬂmﬁfmﬁﬁ@
(B) Us wEferht A9 w1 @ieEA
(C) HfET & I q S0 9
(D) WA & §] & Fenfaal |
77.  “IATR" ® AAEE ¥
(A) wﬁaﬁﬁmmwﬁﬁfa%wmmmmﬁﬁmmmﬁ
msﬁa‘imsﬁﬂ |
(B) ateer TRed w1 SHEA e fow Sifa S e wm s
(C) WY &H Ta & & fag Sffaq wifdmwsl @ Stal 1 S5
(D)ﬁwqﬁaﬁﬁaﬁv@%msﬁﬁaﬁﬁmﬁmﬁmw
78. ‘Sr-fafeuar de wite’ # fadvr ¥ ;.
V(A)aﬁwﬁﬁw@,mwﬁm,mmﬁmaﬂﬁww
(B)ﬁmﬁwﬁ,ﬁwm,mw%mwﬁ?@mqﬁ
(C)mmﬁﬁwﬁg,ﬁwwﬁm,mmﬁmfﬂmww

(D) v=u ysiiaal §qfg, S=o Tiehal, o™ famer &1 7 T
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79. Ecological arrangements in which two or more species use different, non-

overlapping resources in a given habitat is called as :

(A)
(B)
©

D)

Resource partitioning
Mutualism
Association

Exclusion

80. What is the full form of CAT scanner ?

(A)
(B)
©)

(D)

Computerized antitomographic scanner
Computerized angular tomographic scanner
Computerized axial tomographic scanner

Computerized axial topical scanner

81. The provision for a Uniform Civil Code exists in which of the following parts

of Indian Constitution ?

(A)
B)
(C)

D)

Fundamental Duties
Fundamental Rights
Citizenship

Directive Principles of State Policy

82. Who discovered electron ?

(A)

(©)

Joseph John Thomson (B) Galileo Galilei

Edwin Herbert Land (D) Thomas Edison
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80.

81.

82.

et sTar 3 W aifafas srewerd At ¥ o <1 1 3 stfees wenfsl ster-3ter
3t IR-erfqem® Tl %1 SUIE I §, 39 Fed © ¢

(A) GEreE fawrsE
(B) 9RERH

(C)

(D) <fgshTa

@A R K W ET F G ?

(A) FrEFa TASHIRS TR

(B) FPliFa W JHEtheh Th

(©) FEtEa wa dnuies @

(D) Feedda s1afig Tmfas @

% G § Frefafen § @ e wm # wwoae fafaw G w1 e
g ?

(4) Hfen o

(B) Tifess sifawr

(C) =riRERdl

D) T = Afa & feys fag=

s @1 onfaser feeq femar ?

(A) S® SHE o9HEA B) Teifaan Afach

(C) Tsfm &&° o (D) 9f=g TfeEA
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'\
83. Which committee was set up by Govt. of India in September 2014 to restructure

the Railways and to suggest ways for resource mobilisation ?
(A) Sam Pitroda Committee |

(B) Kandwal Committee

(C) Swaminathan Committee

(D) Bibek Debroy Committee

84. Which article of the Indian Constitution provides Right to Constitutional

Remedies ?
(A) Article 29 - (B) Article 30
(C) Article 31 | (D) Article 32
85. Headquarters of Uttarakhand High Court is at :
(A) Dehradun " (B) Chamoli
(C) Nainital (D) Haridwar
86. The Lipa river is an important tributary of :
(A) Spiti | (B) Beas
(C) Rawi (D) Jhelum
87. Who is the Vice-chairman of H.P. State Handicraft and Handloom ?
(A) Sanjeev Katwal (B) Ramesh Thakur
(C) Pitambar Lal (D) Mahesh Kumar
88. Where is Kundi Maral lake ?
(A) Kinnaur (B) Lahaul Spiti

(C) Chamba (D) Shimla
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83.

84.

85.

86.

87.

88.

WA TR I A=, 2014 H1 IS F HEIVH GUR X FEEE F TSR H
fau feg a3 &1 oA fear ar ?

(A) T\ feier A

(B) h<erel HHel

(C) @rte A

(D) foo qF wa

aRa & dfauE # R o=k # dawifie IRl & sifuwii &1 Seom § ?

(A) 3TT=% 29 (B) 3= 30
(C) @Ig=x 31 D) 3TT=R 32
IWETE Ieq AEAd H AT Fel § 2

(A) < (B) =t

(C) e (D) R
foom frget Hewqul wews T ¥ ?

(A) wifd (B) =™

©) T ® Fm
fearaer WY T BUHIA AT VST H AFE-IREA wH ¥ ?
(A) WSiE e (B) Y IR
(C) foar=R == . (D) ¥HRY HAR
agvzﬁw@ﬂﬁw g ?

(A) fFeR - (B) wmRe-wifq
(C) =wI (D) e

SUPDT(H)-2018—A 43 P.T.O.



89. Who was the Viceroy of India, when Shimla Conference was arranged in

1945 ?
(A) Lord Mountbatten (B) Lord Wavell
(C) Lord Linlithgow (D) Lord Willington

90. Which Viceroy was responsible for partition of Bengal in 1905 ?
(A) Lord Minto (B) Lord Curzon
(C) Lord Landowne (D) Lord Ripon
91. The “Treaty of Sugauli” was signed between :
(A) East India Company and Nepal Govt.
(B) Raja of Sirmour and Nepal King
(C) Raja of Kangra and Nepal King
(D) A Group of Princely States Rajas and Nepal Raja

92. Which of the following Act of Govt. of India paved the way for formation of
Himachal Pradesh as Part “C” State ?

(A) Partition Act, 1948
(B) Mountbatten Plan
(C) Independence Act, 1947
(D) Govt. of India Part “C” Acts, 1951
93. Himalayan Forest Research Institute is located at :
(A) Panthanghatti (Shimla) (B) Manali (Kuliu)

© Dharamshala (Kangra) (D) Killar (Chamba)
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89. frmem =+ 1 1945 H § o, W WA WRqSH & G wH A ?

(A) M€ ARTHHA (B) e g«
- © e foafaem D) = faferea
90. @M faurs™ 1905 # g o, IWe @ &\ IEUE IS o ?
A) e = (B) @€ s
(C) wrE wvgad D) e Ry

91. ‘gt Whu' frge dw g o 2
(A) = sfrem wEE SR U WK
B) T faER SR Yue TS
(C) TS AN R I TS
(D) fomdl & Tsnsli & Uy d9n AU TS
92. YRd &R & fRu Afufm @ fewrma e =1 o Wt g =1 g5t faen

T ?
(A) faursH W=, 1948
(B) WIEZZaeT ISl

(C) HOd—=dl WaZ, 1947
(D) 9RA &R UR “C” Acts, 1951

93. feurems o9 ST EUM XU Fel fm ¥ 2

(A) gyt (feme) (B) wATE (FHee))
(C) wHmer (SHFTST) (D) fFar (I=m)
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94.

96.

96.

97.

98.

99.

100.

Lahaul-Spiti was created as a separate district in :

(A) 1972 (B) 1976

(C) 1948 (D) 1960

Sawra Kuddu Hydro Project is beihg constructed on river :
(A) Suketi | (B) Satlyj

(C) Pabbar (D) Baspa

With whose collaboration “Doodh Ganga Scheme” was launched in Himachal

Pradesh ?

A) IMF (B) World Bank.
(C) NABARD (D) Central Govt.
When did Dalai Lama escape from Tibet ?

(A) 1952 ,- | (B) 1959

(C) 1963 (D) 1966

Which wildlife sanctuary is largest (Area) ?

(A) Great Himalayan National Park .= (B) Dhauladhar

(C) Kibber (D) Sangla
Sabathu town was part of princely state of :

(A) Baghat (B) Baghal
(C) Mahlog | (D) Beja
When was first European house built in Shimla ?
(A) 1815 ' (B) 1822

(C) 1831 (D) 1842
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95.

96.

97

98.

99.

100.

ARIA- T goeR fSen e & ?
(A) 1972 B)

(C) 1948 D)

1976

1960

el FHeg fagm ufEsm g 98 Woem @ ¥ 2

(A) gehat ®B)

(C) 9= D)

‘g T A e WY A e weEm @ e W 2
favg & |

(A) FREE T3 &Y (B)

(C) -=re (D)

gome oHT fasad 9@ &9 9d 3 ?

- (A) 1952 (B)

(C) 1963 o D)

HEAAT AYARTT AAFA H GIY g8 § 2

(A U2 feueEE AvEA U (B)

(C) fpeR (D)
g we qd § fhw g @ amr oo 2

(A) <= (B)
(C) wearm | (D)
femen § 9gen AT W owe o 2

(A) 1815 (B)
(C) 1831 (D)
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